g ¢ Jsad) Blacirad) i s udd b Jidad) Jsid)

Jusad) ABD ACD Spdd) ¢ddd)
0 4 4x936
1 3 1x6+3x830
s ¢ |
3 1 3x8+1x630
4 0 4x936

Lrldaidl Sz «ilo ool 3l b @obd) sdaid elal Juaald duasad) a0 ool gupzd wdddl o

’Séd‘éj 28 u\J\Lﬁwd‘

Q\&@jj&d‘ Sd‘a&ﬂc?d‘ Qb‘gwdd (éd dh'ﬂe‘j‘ d‘(éoki\

Jad) ABD | ABCD ACD Gpid) gddd)
0 0 4 4x936
1 0 3 1x6+3x830

2 [ o | 2 | = o‘xpsExpEm |
3 0 1 3x8+1x630
4 0 0 4x936
0 1 3 1x5+3x932
Qg & g oud)

3x9+1x532

2x6+2x930

\]
(e}

2x9+2x630

3x7+1x930

1x9+3x730

|

gsezd Bdddl Gl sz o Ol 3l s Gubdl slagid slal Jumaild dua sad) s od ool B 1d
32 31z d) o2 sd s ed) BB G0 28 5o Gy duaal latis B3



Possible distributions of the cars in Example I

Route ABD ACD Total Time
0 4 4x936
1 3 1x6+3x830
number of | P
cars 3 1 3x8+1x630
4 0 4x936

Notice that the best possible time was reached when the network was at Nash Equilibrium and is

28 minutes.
Possible distributions of the cars in Example 11

Route ABD | ABCD ACD Total Time
0 0 4 4%x936
1 0 3 1x6+3x830
3 0 1 3x8+1x630
4 0 0 4%936
0 1 3 1x5+3x932

number of

3x9+1x532

0 2 2 2x6+2x930
2 2 0 2x9+2x630
0 3 1 3x7+1x930

Notice that the best possible total time was not reached when the network was at Nash
Equilibrium, since the total time in this case was 32 minutes while the best possible total tome is

28 minutes.
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